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





1
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« Volt »V
« Le Voltmètre »
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
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« Coulomb »


I =
I(A)Q(c)ts

4
1–

 


I = 200 mA



I = 108 mAI = 108 mA

 
·
·
·

ROhmOméga
 
·
·
·



Q
t
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2


Ohmmètre





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








± 10%±5%
± 1%±2%



4
R


5

URI

R = 25 . 103W  ± 10%
R = 25 K W ± 10%
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
U = R × I


·6V - 250 mA
·120Ω9V

6





W=U ×Q


   W« J »
   U« V »
   Q« C »


7



P = W
t


   W« J »
   P« W »
   t« S »


W=U×QP=W

tQ = I×tP=U×I





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1 


A
V

U I



U (V)


I (A)


U × I (W)


P (W)

64.1024.6025
120.586.967
123.2038.4040

U × I

U × I

2
 

6V-2,1W

A
V



IU
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
U (V)


I (A)

U × I
P (W)



30.230.69
60.362.16
80.403.20

2.10



 









